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�*UHWQD�*UHHQ�

)HUWLJNHLW��/HVHYHUVWHKHQ�
1LYHDX�%��
Ich kann in unterschiedlichen Texten das 
Wesentliche erfassen. Auch wenn ich nicht alles 
verstehe, kann ich die Bedeutung einzelner 
Wörter und Äußerungen aus dem 
Zusammenhang erschließen.�

'HVNULSWRU� 
Ich kann einfache Sachtexte zu allgemeinen Themen lesen und ihnen gezielt 
Informationen entnehmen. 

%HVFKUHLEXQJ� 
Die Schülerinnen und Schüler lesen Text und Aufgabenapparat selbstständig durch 
und bearbeiten die Aufgaben. 
Danach vergleichen sie ihre Ergebnisse mit dem Lösungsblatt. 
Für diejenigen, die nicht alle Aufgaben richtig gelöst haben, gibt es IROORZ�XS�WDVNV� 
2UJDQLVDWLRQVIRUP� 
Einzelarbeit 

=HLWDXIZDQG� 
ca. 20 Minuten 

(UI�OOXQJVJUDG� 
Die Aufgabe gilt als erfüllt, wenn 10 von 17 Punkten richtig angekreuzt bzw. 
gefunden wurden. 

6SLHJHOELOG�$XIJDEH: 
Schreiben: Die Schülerinnen und Schüler schreiben einen kurzen Text zum Thema 
$W�ZKDW�DJH�VKRXOG�\RXQJ�SHRSOH�EH�DOORZHG�WR�PDUU\" 

0DWHULDO���0HGLHQ� 
Arbeitsblätter  
Lösungsblätter 
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x Read the following text. 

 
 

� �7KH�2OG�%ODFNVPLWK¶V�6KRS� �
�
�
$V�VRRQ�DV�\RX�KHDU�WKH�QDPH�*UHWQD�*UHHQ��\RX�WKLQN�RI�UXQDZD\�PDUULDJHV��
7KH�ILUVW�UXVK�VWDUWHG�LQ�������ZKHQ�D�QHZ�ODZ�LQ�(QJODQG��SDVVHG�E\�/RUG�
+DUGZLFNH��PDGH�WKHVH�PDUULDJHV�LOOHJDO��,W�GLG�QRW�WDNH�ORQJ�IRU�\RXQJ�FRXSOHV�
WR�UHDOLVH�WKDW�DV�VRRQ�DV�WKH\�FURVVHG�WKH�6FRWWLVK�ERUGHU�QRWKLQJ�FRXOG�SUHYHQW�
WKHLU�PDUULDJH���5 
6FRWWLVK�/DZ�GHPDQGHG�RQO\�WKDW�WKH�FRXSOH�SURFODLPHG�LQ�IURQW�RI�WZR�ZLWQHVVHV�
WKDW�WKH\�ZDQWHG�WR�JHW�PDUULHG��)URP�WKDW�PRPHQW�RQ�WKLV�PDUULDJH�ZDV�
UHFRJQL]HG�DV�OHJDO�LQ�DOO�FRXQWULHV��
,Q�WKH��� ��� �FHQWXU\�LW�ZDV�PRVWO\�WKH�EODFNVPLWK�ZKR�IXQFWLRQHG�DV��$QYLO�3ULHVW��
±�WKLV�LV�ZK\�WKH�DQYLO�LV�WKH�V\PERO�RI�*UHWQD�*UHHQ���10 

2QH�RI�WKH�ROGHVW�PDUULDJH�FHUWLILFDWHV��GDWHG��� ��� �-XQH�������EHORQJV�WR�
0U��+RXVWRQ��WKH�SURSULHWRU�RI�WKH�IDPRXV�2OG�%ODFNVPLWK¶V�6KRS��2QH�RI�WKH�ODVW�
$QYLO�3ULHVWV��0U��5HQQLVRQ��PDUULHG������FRXSOHV�RYHU�WKH�DQYLO��7KHVH�ZHGGLQJV�
FDXVHG�D�ORW�RI�FRPSODLQWV�LQ�WKH�$QJOLFDQ�&KXUFK�DQG�WKLV�ZHGGLQJ�EXVLQHVV�ZDV�
FRQVLGHUHG�VFDQGDORXV�DQG�LPPRUDO��/RWV�RI�VWRULHV�FDQ�EH�WROG�RI�SDUHQWV��15 

KRSSLQJ�PDG��RIWHQ�DUPHG�ZLWK�D�JXQ��ZKR�DUULYHG�LQ�6FRWODQG�LQ�FDUULDJHV�RU�RQ�
KRUVHEDFN�WU\LQJ�WR�VWRS�WKH�PDUULDJH�RI�WKHLU�UXQDZD\�FKLOGUHQ��%XW�PRVWO\�WKH\�
ZHUH�WRR�ODWH��DQG�WKH�PDUULDJH�KDG�WDNHQ�SODFH���
,Q�������D�QHZ�ODZ�ZDV�SURFODLPHG��DFFRUGLQJ�WR�ZKLFK�D�FRXSOH�FRXOG�RQO\�JHW�
PDUULHG�LI�RQH�RI�WKHP�KDG�WDNHQ�XS�UHVLGHQFH�IRU����GD\V�SULRU�WR�WKH�ZHGGLQJV��20 

7KLV��RI�FRXUVH��EURXJKW�D�UHGXFWLRQ�LQ�PDUULDJHV��/DWHU�RQ��WKH�$QJOLFDQ�&KXUFK�
DJDLQ�EURXJKW�SUHVVXUH�RQ�SDUOLDPHQW���
6LQFH�������DOO�$QYLO�0DUULDJHV�KDYH�EHHQ�LOOHJDO��%XW�DOO�WKH�VDPH��RQH�VWLOO�KHDUV�
RI�*UHWQD�*UHHQ�PDUULDJHV�±�EHFDXVH�LQ�(QJODQG�RQH�KDV�WR�EH����EHIRUH�RQH�
FDQ�JHW�PDUULHG�ZLWKRXW�RQH¶V�SDUHQWV¶�SHUPLVVLRQ��ZKLOH�LQ�6FRWODQG�WKH�DJH�IRU�25 

WKLV�LV�����7RGD\��WKH�FHUHPRQ\�QRUPDOO\�WDNHV�SODFH�LQ�D�FKXUFK�RU�DW�WKH�
UHJLVWU\�RIILFH��+RZHYHU��PDQ\�\RXQJ�FRXSOHV��DIWHU�WKHLU�RIILFLDO�ZHGGLQJ��FRPH�
WR�WKH�2OG�%ODFNVPLWK¶V�0DUULDJH�5RRP�WR�UHSHDW�WKH�WUDGLWLRQDO�6FRWWLVK�RDWK�
WKHUH��
 
Source:  
Adapted from information material supplied by the Gretna Green Visitor Centre 
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x Now deal with the tasks connected with this text: 
 

7DVN���
 

x Decide whether the statements below are correct, incorrect or if the 
information is not in the text at all. 

x If they are correct, WLFN��9� $� 
x If they are not correct, WLFN��9� %� 
x If the information is not in the text, WLFN��9� &� 

�
� $�

7UXH�
%�

)DOVH�
&�

QRW�LQ��
WKH�WH[W�

1. Runaway marriages were forbidden  
in England 200 years ago.�

� � � 

2. In Scotland, the young couple only 
needed two people present to be 
able to get married.�

� � � 

3. In former times, a law demanded 
the use of wedding rings. 

��
 

� � 

4. The Old Blacksmith is the symbol of 
Gretna Green. 

� � � 

5. Parents often tried to prevent their 
children’s marrying in Gretna Green. 

��
 

� � 

6. An angry father shot a priest. � � � 

7. In 1857, a new law demanded that 
the young people had stayed in 
Gretna Green for three weeks 
before they could get married. 

��
 

� � 

8. In Scotland people are still allowed 
to marry earlier than in England.�

�� �� ��

 
7DVN���
�

x On the basis of the text, match the parts of the following sentences.  
 

 
1. Young couples came 

to Gretna Green 
 
2. The church 

complained 
 

3. Only a few fathers 
succeeded in 

 

 a) to get divorced. 
 
b) stopping the marriage ceremony. 
 
c) because of their runaway children. 
 
d) and wanted to end these weddings. 
 
e) because they wanted to marry 
 without permission. 
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7DVN���
�

x Find the words and expressions in the text which tell you this: 
 
 

1. a marriage performed at the anvil of Gretna Green LV�QRW�UHFRJQL]HG. 
 
 
 
 
 

2.  during the wedding ceremony there had to be WZR�RWKHU�SHRSOH�SUHVHQW. 
 
 
 
 
 

3. many people thought that the couples who married in Gretna Green acted 
DJDLQVW�VRFLDO�UXOHV. 

 
 
 
 
 

4. some of the parents who came to Gretna Green in search of their children 
ZHUH�H[WUHPHO\�DQJU\. 

 
 
 
 
 

5. the law said that a couple could only get married if one partner KDG�OLYHG�LQ 
Gretna Green for three weeks. 

 
 
 
 
 
 

6. when a new law was passed in 1857, IHZHU�FRXSOHV�ZHUH�PDUULHG in Gretna 
Green. 
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/|VXQJHQ� � 6ROXWLRQV�DQG�IROORZ�XS�WDVNV�
 
7DVN���
 

�
1R��

�
6ROXWLRQ� ,I�\RX�KDYH�

PDUNHG�WKH�
ZURQJ�OHWWHU��ORRN�
DJDLQ�LQ�OLQH�V���

�

:ULWH�GRZQ�WKH�ZRUGV�
ZKLFK�JLYH�\RX�WKLV�LQIRUPDWLRQ��

�
��

 
A 

 
2 - 3 

 
 

 
 
 
 

�
��

 
A 

 
6 - 8 

 
 
 
 

�
��

 
C 

 
 

 
 
 
 

�
��
�

 
B 

 
10 

 
 
 
 

�
��

 
A 

 
15 - 17 

 
 
 
 

�
��

 
C 

 
 

 
 
 
 

�
��
�

 
B 

 
19 - 20 

 

�
��
�

 
A 

 
24 - 26 
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7DVN���
 

�
1R��

�
6ROXWLRQ� ,I�\RX�KDYH�PDUNHG�

WKH�ZURQJ�OHWWHU��
ORRN�DJDLQ�LQ�

OLQH�V���

:ULWH�GRZQ�WKH�ZRUGV�
ZKLFK�JLYH�\RX�WKLV�LQIRUPDWLRQ��

�
��

 
A 

 
2 - 3 

 
 

 
… you think of runaway marriages. The first 
rush started in 1753, when a new law in 
England … made these marriages illegal. 
 

�
��

 
A 

 
6 - 8 

 
The Scottish Law demanded only that the 
couple proclaimed in front of two witnesses 
… 
 

�
��

 
C 

 
 

 
 
 

�
��

 
B 

 
10 

 
… this is why the anvil is the symbol of 
Gretna Green. 
 

�
��

 
A 

 
15 - 17 

 
Lots of stories can be told of parents, 
hopping mad, often armed with a gun, who 
arrived in Scotland in carriages or on 
horsebacks WU\LQJ�WR�VWRS the marriage of 
their runaway children. 
 

�
��
�

 
C 

 
 

 
 
 

�
��
�

 
B 

 
19 - 20 

 
… according to which a couple could only 
get married if RQH�RI�WKHP had taken up 
residence for 21 days prior to the weddings. 
 

�
��
�

 
A 
 

 
24 - 26 

 
… because LQ�(QJODQG�RQH�KDV�WR�EH��� 
before one can get married without one’s 
parents permission, while LQ�6FRWODQG�WKH�
DJH�IRU�WKLV�LV�����
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7DVN���
�

�� H�
�

�� G�
�

�� E�
�

 
 
7DVN���
�

�
1R��

�
:RUG���([SUHVVLRQ�

�
,I�\RX�KDYHQ¶W�IRXQG�WKH�
ULJKW�ZRUG�RU�H[SUHVVLRQ��

ORRN�DJDLQ�LQ�OLQH�V���
�

�
��

 
…  made these marriages LOOHJDO 
 

 
3 

�
��
�

 
…  that the couple proclaimed LQ�IURQW�RI�WZR�
ZLWQHVVHV�
 

 
6 

�
��

 
…  this wedding business was considered 
VFDQGDORXV�DQG�LPPRUDO 
 

 
14 - 15 

�
��
�

 
…  parents, KRSSLQJ�PDG, …  
 

 
16 

�
��
�

 
…  if one of them KDG�WDNHQ�XS�UHVLGHQFH for 
21 days prior to the weddings 
 

 
20 

�
��
�

 
This of course EURXJKW�D�UHGXFWLRQ in 
marriages. 
 

 
21 

 
 

 


